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PROBLEMAS DE EXPRESIONES ALGEBRÁICAS Y OPERACIONES 

Problema 106: 

Resolver: 

(𝑎ିଵ + 𝑏ଵ) · (𝑎 + 𝑏)ିଵ

ඥ𝑎ସ √𝑎ିଶఱల
· 𝑎଼/ହ · 𝑏 

Solución Problema 106:  

(𝑎ିଵ + 𝑏ିଵ) · (𝑎 + 𝑏)ିଵ

ඥ𝑎ସ √𝑎ିଶఱల
· 𝑎଼/ହ · 𝑏 =

ቀ
1
𝑎

+
1
𝑏

ቁ · (
1

𝑎 + 𝑏
)

ඥ𝑎ସ √𝑎ିଶఱల
· 𝑎଼/ହ · 𝑏 = 

 

=
ቀ

𝑏 + 𝑎
𝑎 · 𝑏

ቁ · (
1

𝑎 + 𝑏
)

𝑎ସ/଺ · √𝑎ିଶయబ · 𝑎଼/ହ · 𝑏 =

𝑎 + 𝑏
(𝑎 · 𝑏)(𝑎 + 𝑏)

𝑎ଶ/ଷ · 𝑎ିଶ/ଷ଴
· 𝑎଼/ହ · 𝑏 = 

 

=

1
(𝑎 · 𝑏)

𝑎ଶ/ଷ · 𝑎ିଵ/ଵହ
· 𝑎଼/ହ · 𝑏 =

𝑎଼/ହ · 𝑏

(𝑎 · 𝑏) · 𝑎ଶ/ଷ · 𝑎ିଶ/ଵହ
=

𝑎଼/ହ

𝑎 · 𝑎ଶ/ଷ · 𝑎ିଶ/ଵହ
=

𝑎଼/ହ

𝑎ଶସ/ଵହ
=  

𝑎଼/ହ

𝑎ଶସ/ଵହ
=

𝑎଼/ହ

𝑎଼/ହ
= 1 

 

 

 

 

 

 

 

 


